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1. A#H8 43 100 4+ 44 R 4o -
EEFE 2 ANEEELRAAS  BREFAMAK (A1)
3. %** $EERARMA— D -

—  EEHCEEA A 58 2.0 5 £T705)
1.%%%%%%%ﬁ?
(A) BIOS —> MBR —> 0S Loader (B) 0S Loader -» BIOS -> MBR
(C) MBR —> BIOS —> 0S Loader (D) BIOS -> 0S Loader -> MBR

2. Oracle VirtualBox & i & 4% % #cd8 - & F B X 38) xWM & 4T 4456 — 3R 4 -

TFHRfAEEE LT E VirtualBox ?
1 Windows hosts ~ 2 0S X hosts ~ 3 Linux distributions ~ 4 Solaris hosts

(A) 1.2 B 1,2,3 © 1,24 (D) 1,2,34

3. —SBATRRAEL —KBTF? Yesor No- —S8BATHRIEE —REBF?
Yes or No -
(A) Yes, Yes (B) Yes, No (C)No, Yes (D) No, No

4, By F &5 =E3 : Google Cloud Platform (GCP) vs. Amazon Web Service (AWS)
vs. Microsoft Azure - E=E S BAlkAE LM AXE LM ¥ (Data Center) ?
(A) Google  (B) Google ~ Amazon (C) Google ~ Microsoft
(D) Google ~ Amazon ~ Amazon

5., AT TP E#eE1%E » HE&ER A7
1000 And 1000 Or 1000 Xor 1010 Xor 1010
(A0 (B) 1 (C) 1000 (D) 1010

6. ¥4 (Infix) &~ : AB¥CH(DXEAF)*XG F #)f7& B4 5 (Postfix) &7 7
(A) AB+C*DEF*+G*+ (B) ABC*+DEF+*G*+
(C) ABC*+DE*F+G*+ (D) ABCH*DE*F+G+*

b

Atk B F(XY,Z)=XY'Z+X'YZ+YZ “Tiuif % ?
(AXZ+X'Y (B)XZ+XY' (COXY+X'Z D)k E%3k -

8. Apple iOS % 73 4 6 Xcode R FHlfTHXET ? ]
(A) Python (B) Swift (C)Java (D) C# HHEEAAEE




S EIL EARSE 107 L5 EA AT L PEE ANE XA

A LDD000 (e a585)
B RAEmasm (F4a)
SEEH ARE LY FXF B TEMBS RO0E %2R

4. A#F B A 100 5 0 B4R Edo -
AEER S ANSEE LRSS ARE AN (4048 -
6. ERFGBBELRBM— 44 -

9, AT FHEABE HELREAEM? (A) 100 (B) 101 (C) 102 (D) 103
Dim Sum, i, j As Integer
Sum = 0
1 =10
While i <= 5

For {=1Ted +3
Sum = Sum + i
Next ]
i=1i+1
End While
Console. WriteLine(Sum)

10 $47FFRABE  HBLREA2 (A)2 (B) 14 (O 15 (D) 16
Dim A, S As Integer

=0:A=230
While A > 0
S=8+ (A MNod 16)
A=A/16 /] R EBEE: 30/16=2
End While

Console. WriteLine(S)

11. AP » K444 R (Data Link Layer)sh & 38 » B R84 69348 (Frame) 5
A % 1500 bytes © o3¢ TCP & afe [P &2 1% » L EHEWMAHT?
(A) 1400 bytes (B) 1460 bytes (C) 1480 bytes (D) 1500 bytes

12. Windows 4k % % % P 2147 ping -n 1 -1 1300 192.168.1.1 - <444 & (Data Link
Layer)#) &35 > B e @ R N BT 7
(A) 1300 bytes (B) 1320 bytes (C) 1328 bytes (D) 1340 bytes
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13. sk 192.168.101.0/29 » RIABGEERA £V TH IP 2 (A) 14 (B)16 (C) 254
(D) 6

14, #HEBE S 192, 168.10.0/25 » 49558 5 247 ?
(A) 255.255.255.128 (B) 255.255.255.240 (C) 255. 255. 255, 224
(D) 255. 255. 255. 0

15. RJ45 H:3a42 A 568A 2% 568B #ydik » A GG PR A wH LRy » MA T REAK
(Ethernet) ¥ R4 A TAAwE&E? (A) 1,2,3,4 (B)56,7,8 (C)1,2,56 (D)
1:2:3:6

16. 1P % 172.31.110.33 - 7438 £ & 255. 255. 255. 224 H /Z & nt B 4T ?
(4) 172.31,110.32 (B) 172.31.110.63 (C) 172.31.110,255 (D) 172.31,110,31

17. 1P % 172.31.110.33 » F#484& $ & 255. 255. 255. 224 H 485 fi hk 2 47 ?
(A) 172.31.110.32 (B) 172.31.110.0 (C) 172.31.110.1 (D) 172.31.110.254

18. #4346y [P address T4k A 1Pv6 #v IPv4d # X, > 3Rl A [Pv6 89T &3F
IP 4 kB 04§ € & 4T IPv4 46 X 8 4% 2
(A) 2128 (B) 232 (C) 254 (D) 296 o

19. Standards for CSMA/CA is specified by which IEEE 802.x sublayer?
(A) 802.3 (B) 802.5 (C) 802.11 (D)802.16

20. The following code F(n). Which of the following statement is true?
long F(long n) {
IF (n=1) OR (n =2) OR (n = 3) Return n;
ELSE Return F(n— 1)+ F(n—2)+ F(n—3) }
(A) F(6)=6 (B) F'(6) =8
(C) F(6) =20 (D) None of the above.
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21. 3 M4 X353 C, C++, Java, Python 3k 5 14 T 51474 2
(A) s BEmET O ashEs O#REES

22. AT T PR 4845 » S B 8y x [E AT ?
(A) 17685  (B) 34855 (€) 52025 (D) 103030

int i, 5§, k, =
x = 0;
for (i = 0; i <= 100; i++){

for (j = 0; j <= 100; j++){
for (k = 0; k <= 100; k++)
X =x + 1;
}

}
printf("%d", x);

23, HAT T Pl E 345 > ey x A7
(A) 17685  (B) 34855 (C) 52025 (D) 103030

int i, j, k, %;

x = 0;
for (i = 0; i <= 5; i++){
for (j = 0; J <= 5, J++3{
for (k = i; k <= 5; k++)
X =x + 1;
}
¥

printf("&d", x);

24 AT TR E0E » By &) x EAT?
(A) 17685  (B) 34855 (C) 52025 (D) 103030

int i, j, k, %;

x = 0;

= 5; i++){

j <= 5; j++){
j; k <= 5; k++t)
+
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25. FoIE#HBT » RRX WX LHAMT?
A)xfy B a@ZbO1#2 MO

int f(int x, int y)

{
int a, b;
a=x+ 3;
b=y - 10;
printf("%dsd", a, b);
return 0;

}

int main()

{
£(1, 2);
return O0;

}

26. HX A ZKRAT o4 n B2 09FK FHH A(n) B EFT?
(A)n/2 (B)n/2+1 (C) logyn (D) logyn + 1

int A(int n)

{
if (n == 1)
return 0;
else
return 1 + A(n/2);
}

27. f—iREAZXF > EEF R B ARG ; FRXNEAHEE R
GE LB S NEE T m R R o LIRS
(A) #Fs53R (logic error) (B) 3 &AL (stack overflow) (C) % # (over-

loading) (D) ¥A L% 3

28. 4 f(n) = nl® + 107 © FHAITA 5% ?
A) f(n) € O(n'248") (B) f(n) € O(10™ —nt%) (C) f(n) € Q(12" —n?0)

(
(D) ¥ k% E A
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